See if you can lick this puzzle. You need to use problem solving 1o calculate the
cost of the ice cream cone, the hot dog, and the chips. Then figure out how much
the items in row two would cost.

Prices:

IF2736 Logic Fun
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«\Numbers ” ‘

In the Value Box, each letter of the alphabet has been given a dollar
value. To find the value of a word, add the values of all the letters. For
example, the word school is worth $72. (18 + 3+8+15+15+12= 72)
Write words with corresponding values in each of the boxes below.

| ==

Value BoxX

= $1
=$2
= $3
=$4
= %5
= $6
= $7
= $8
= $9
=$1O
= $11
=$12
=$13
=$14
=$15
= $16

$10 Words | $20 Words

TOTMmMmUOw>»

$50 Words $100 Words

$101—$150 Words $151—$200 Words

N'<><E<c:—-acn:ﬂo-qu§;—7<r__

urra4 480 Rrain Teasers—Grade 4 30 ©1595 Teacher Creatad Materials, Inc.



mﬁ. FUNSTER'S THINK-A-MinuTES Lever B Book 1

The Path to Good Thinking

DIRECTIONS: Use a pencil or pen to draw on the graphic below according to the
instructions underneath.

PRODUCING AND DESCRIBING PATHS

NORTH
* L} [ . L4 e L] . L]
L] ] » . ° ] » . L]
[] . [} L] [} L] L] [ [}
. " [} . [} . @ [}
HOME
= -
o, . . * A s e . °« @
g @ !
e o e s o APARTMENT|, ,
BUILDING
1] . * . . L ) B »
—t
s * d * * * [ SCHOOL
[ » . L L] L S
SOUTH

Start at point A. Your destination is the school, peint B. Draw and describe two paths
to travel from your original location, point A, to your destination. Move along either
north-south or east-west lines. You should not take a path through the apartment

building,

1. spaces to the and then spaces
to the

OR

2, spaces to the and then spaces
to the

3. Length of path one: spaces. Length of path two:
spaces, ‘

From Think-A-Grams Book A2, Far more activities like the ones above, cali 800-458-4849 for the
13 slree naarast voir or tn nrdar diractiv. © 2002 The Critical Thinkinag Cey » wunwe critimatthinkino.com



SY M

Draw the other half of the figure, using the squares as a guide.
color the picture. ' o

Then,

#TCM 489 Brain 'Teasers'——Grade 4

26 ©1995 Teacher Created Materials, inc.




Level B Book 2

b DR, FUNSTER'S THink-A-MINUTES

Mystery Shape

AA:: QOQO

umber of shapes.

1. Inside the largest circle, write the aumeral for the total

9. If your first answer is spelled with four letters, shade in the amall triangle. If

it’s not, cross out the last two shapes.

3. The shape you are looking for has only straight lines.

4. Cross out the largest of each shape.

5. Cross out the shape that has fewer than four sides.

6. Cross out the shape that does not have equal sides.

% Put the number 1 above the mystery shape.

ove, call 800-458-4848 for the

ris Book AL For mare activities like the one ab
offware - www.criticaithinking.com

From Language Sma
der directly. © 2002 Critical Thinking Books & S

store nearest you or 10 of



Numbers

cHAR GE, P LEASE

List the coins you would give each person below to make change for his
or her doliar. |

1. _'Doily wants 1 coin for her $1.

~ Zac wants 6 coins tor his $1.

. Holly wants 7 coins for her $1.

_ Casie wants 15 coins for her $1.

_ Thomas wants 16 coins for his $1.

2

3

4. Andrew wants 10 coins for his $1.
- |

6

7

. Chelsea wants 17 coins for her $1.

~ Austin wants 19 coins for his $1.

8
9. Marc wants 25 coins for his $1.
0

10. Roberio wants o8 coins for his $1.

©1985 Teacher Created Malerials, Inc.




DR. FUNsTER'S THINK-A-MINUTES LeveL B Book T

Get Your Brain in Gear

DIRECTIONS: Read the information below carefully. Then use that information to
help you answer the questions that follow.

1, The records of some students were checked. The records showed the following
facts:

4. 11 of the students were taking a science class.
b. 9 of the students were taking an English class.

c. b5 of the students were taking both a science class and an English class.

How many students’ records were checked? How do you know?

9. Mr Dortsis a forest ranger who is very tired because he has been awake for
48 hours. It's 4:30 In the afternoon now, and he has to be awake at 6:30 in the
morning. He sets the alarm for 6:30, figuring that he will have plenty of time to
sleep, and he crawls in bed. If he falls asleep right away and doesn’t wake up until
the alarm is supposed to go off, how many hours of sleep will he get?

\Le.gme.i\able

From Language Smarts Book BI. For more acfivities iike the one above, call 800-458-4849 for the
store nearest you or o order directly. © 2002 The Criticat Thinking Co. * www.criticalthinking.com it



&gn " Sequences

Name

The following sets are in a logical sequence. Examine each set carefully and
choose the item that should logically be the next item in the set. Write the

correct answer on the line,

' Exmnpw1,2,&__ﬂL__M_
a. b b.?c.4 d. 6

1.2,4,6, 10. 1/8, 1/4, 3/8,

a.7 b.5 ¢.10 d. 8 a 3/9 b.58 c37 d1/2
2.ab,bc,ed, 11, it, fit, fist,

a.ef b.de c.ed dfg a. tif b first c. flit d.is
3.105, 107, 110,112, 12. triangle, quadrilateral, pentagon,

a. 116 b. 115 c. 114 d. 109
a. hexagon b. polygon c.octagon

4. 112,103, 114, _ d. decahedron

a. 165 b.1/6 c.2/4 d. 213

5. kl, mn,op, — .
a.pg b.on c.gr d.rs

6.1, 5,2 10, 3,
a.4 b 30 c25 d15

7. July 31, June 30 , May 31,
a. April 30 b. December 31

c. March 31 d. August 31

8. 1987, 1985, 1983,
o 1984 b.1980 c.1981 d. 1982

9.-560, 56.0, 5.60,
a. 0560 b..560 ¢.56.0 d.560.0

20 ® Copyright 1987 Dandy Lion Publications—Logic Liftoft




Seguences

The following sets are in & logical sequence. Examine each set carefully and
choose the item that should logically be the next item in the set. Write the
correct answer on the line.' :

Example 82, 84, 86, g8
a.80 b.88 0©.87 d.90

1. uni, bi, trl, 10.2, 6, 18,54,
a, quad b.quin c.octa d. hexa s, 90 b.108 c.72 d. 162
2.20, 21,283,286, ————— 11. Abe, Beth, Christopher, Doris, ____._.
a.28 b.29 c¢.30 d.31 o Ellen b. Frank ¢ Kim d. Ethan
3. 20, 30, 39, Ar, 12. 8:10, 8:15, 8:20
a.53 b.54 .55 d.50 a 9:30 b.830 c.825 d. 8:45
4.1,4,9,16, _ ———

a.26 b.36 c.20 d. 25

5.100,99, 97,94, ————
2.93 b.90 ¢.92 d o1

6.5, 25 125, ——
a. 250 b.625 c. 550 d. 455

7.5,V
avil bv cVvi diX

8' 44/5: 55/6! 63/75
a. 8% b.7% c.9% d.9%

9. January, 1, March, 3, May, 5,
a. August, 8 b June, 7 c©.July, 7

d. July, 6

21

m ranurinht 1987 Dandy Lion pubiications—Loglc Liftoff



| Level B Boox 1

Dr. FunsteR's THINK-A-MINUTES

Around the Squares

en numbers in the squares o that each row and each

DIRECTIONS: Place the giv
column has the right answer.

2.3,4,6,7,10,12, 14,84

Key Aveilable

From Think-A-Grams Boak.Az. For more activilies like fhe ones above, call 800-458-4848 for the
28 store nzarest you of fo order directly. ® 2002 The Critical Thinking Co. www.crificalthinking.com




EXPERIENCE 17 / Activity 2

oooooooooooooooooooooooooooooooooooooooooooooooooo

200 1000 10 250 |
40 2 400 500 |
© 100 20 50 5

1. Choose three numbers above, and show how
they are related by multiplication or division. |

(180 600 72 10 300
24 120 30 50 60

|6 20 150 .2 240
12 360 5

2 Choose three numbers above, and show how .
‘they are related by multiplication or division.

L austet SerTIGUE PUDICatIBn.™

Number SENSE / Grades 3—4



EXPERIENCE 5/ Activity 2 -

OO....O..OBOOOC0.00000GOIOOOOOO

'Y EREXE RN ..-00‘00..00000000.0000

Which Path Will You Take?

, Collin . Darla -
Adron Brendon o ' 0 Elke Frannie .
X 2
+ 25 =15
| % 0
X 0 _ X 1
+ 15
x 10 + 50
0
Start Number. -

1. Whose path gives 07

2. Whose path gives 357

3. ‘What does Darla’s path give?

4. Whose path gives the Jargest number?

5. What would the Start Number have to be for Brendon’s path to
give 757 Would Aaron’s number change?

30 Number SENSE / Grades 3-4






Put in the Signs -,+,X;¢
(Example: 48042 =20 480 : 24 = 20)

Try it! These need addition signs:
1392517 8=242
'2.4807350=7830

3.965238 0=1068

These need both addition and subiraction signs:
412345678 9=497

5. 635247 7=534

6. 359105 3=257

These need both muliiplication and division signs:
7.4 9237 0=344610 | |
8.81345=1215

9.297994=12

Each of thesé néeds three signs. Put them in.
10. 8 3457 2=133
11.3278329995=2785
12.8073115=5834



Answer each question below. Then use the code to reve

al a famous

proverb.

1.
2.

—————

If 9 x 9 =81, circle L. If it does not, circle U.
I the Atlantic Ocean is west of Canada, circle V. If it is east of
Canada, circle Y.

if lavender is @ shade of purple, circle D. If it is not, circle M.

if Hawaii is an island, circle W, I it is a peninsula, circle K.

If homophones are words that mean the opposite, circle L. If they
are not, circle T. ‘

If the Statue of Liberty was given to the United States by Canada,
circle B. If it was not, circle P.

if a telescope is used to view things that are far away, circle R. Ifit
is not, circle P.

If Robert E. Lee was a Confederate general, circle A. Hf he was a
Union general, circle |

I Alberta is a state in the U.S., circle O. Ifit is a province in Canada,

circle E.
If 6 x 8 + 2 is equal to 10 x 5, circle S. If it is not, circle R.

. |f America was named after Christopher Columbus, circle O. if it

was named after Amerigo Vespucci, circle N.

If southpaws are people who write left-handed, circle K. If they write
right-handed, circle S. |

If an octagon has five sides, circle E. Ifit has eight sides, circle O.
If Ronald Reagan-was once 2 movie star, circie H. If he was not,
circle L. ’

If IX means 11in Roman numerals, circle J. If it means 9, circle C.

S

__———_____——-_.____--.___-—‘...___

munne Tasmhar Craated Materials, Inc. ' 65

Word Lists



1. When you cross out seven letters in the grid below, yo
and only two numbers. What are the two numbers?

2. What di

From Think-A-Grams Book A2, For
atrre nearest vou or fo order direc

Dr. Funsrer's THINK-A-MINUTES

Letters and Numbers

S

=

F

V

O

E
E
E

N
T
E
R

N
T
N

LeveL B Book 1

u will reveal two

git should replace the question mark in the grid of numbers below?

8

9..

more activifizs ke the o
tly, © 2002 The Crifical Thinking Ga. * www

Vey Avel \able

nes above, call a00-458-4849 for the
criticalthinking.com
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Big Numbers on Planet Frooze

Read these word problems. You will need to work with big
numbersg to find the colutions. Are you ready? Blast off!

1. Space Dough Claptrack Norsbott, com-
mander of Planet Frooze's Space Fleet,

'~ Joves fast food. She orders her crew 10
dock the spaceship at the Hover-Thru win-
dow of Froozie’s restaurant. She spends
1,478,432 freebs (that's the money on
Frooze) on a Galaxy Burger, 68,835
treebs on a Weightless Shake, and 20,467
froebs on a Frapple Pie. How many freebs
did Commander Norsbott spend in all?

4. Three-Legged Race Froozian Clara

1 Moosh gets up every morning, slips her

: three legs into some running sweats, and

o 1 hits the road. She runs 99:621 vomils
: before going 10 work, 65,437 snorts at
1 junch time, and 34,986 vomils after din-
ner. She runs another 21,308 snorts
before bediime. (Vomils and snoris are
like our miles and kilometers.) Which does
she run more of, yomils or snoris? How

many more?

Answer:

2. Gleeb Guzzier They don't use galions on
Frooze-they use gleebs. On Earthwe fil 1
our cars with gas. On Frooze they use :
papaya juice. Malmar Vorton scoots into &
service station and asks for & complete fill-
up. The aitendant squeezes out 34,214,003
gleebs of juice into his scooter tank,

2 087,406 gleebs into his reserve tank, and

fills Vorton’s thermos.with 2,300,002 gleebs

of papaya juice. How many gleebs of juice
" did Malmar get-for his scooter?

Answer:

5. Froozie Smoothies Commander
* Norsbott and her kids like 10 whip up a fruity

dessert. They get out their Mega-Blender
~nd toss in 3,490,637 strawberries, |
5,622,942 hananas, and 2,500,000 man-
goes. The Commander's son, Waldo, yells,
“Not so many mangoes! They are way 100
fruity!” So the Commander removes half of
the mangoes before switching on the
blender. How many pieces of fruit do they
end up using to make their Froozies?

1
1

1

1

1

i

1

i

i

i

i

i
Answer:’ :
I

3. Stadium Stuffer  For the Frooze }
Olympics, Bulbus Stadium is packed with :
12,460,301 beings—many of them from '
neighboring galaxies. Exactly 42,320 :
Nootlians are here from the gassy planet, 1
Nootiia. From Thrummta come 62,401 :
horn-faced Thrummtans. And from Vomrole !
are exactly 30,201 Vomrolites. The rest of |
the people are all Froozians. How many I
Froozians-is that? : :

|

I

Answer:

6. Make up your own big-number problem
about the Planet Frooze. Ask a classmate
io solve it. (Be sure you know the answer.)

Answer: _ .
| ey Aveilable s




Put on your thinking cap to golve t

Problems and More

hese problems.

1. SAILING AWAY!

In ancient Constantinopie, sailmakers
made eight sails a day, seven days a
week. If each boat needs three sails,
how many three-sail ships can sail from
Constantinople at the end of one week?

-

Look it up! Today Constantinople is
known as istanbul, Turkey. Gan you find
it on a map of the world?

2. OUR PAL, THE PALINDROME

What's a palindrome? It's a number like
1001 or 23432 that roads the same way
backward as forward. The thing about
palindromes is that you never know
where they'll pop up. What if a car
odometer (the device that shows the
car's milsage) reads 120217 How many
miles must pass before the next palin-
drome”?

—/

What will that palindrome be?

-

3

1
i

i
|
£
i
i
1
|
i
i
i
i
i
|
i
i
i
|
i
|
|
i
i
i
i
1
E
|
i
|
1
|
i
1
i
i

3. MAGIC CALCULATIONS

Try this problem as

many times as you EXAMPLE:
like. No matter what Step! 583
you do, your answer Step2 -385
will always be 1,089} | Step 3 198

Step 1: Chose a Step 4  +891

number made up of | Step 5 1,089

3 different digits.
The difference between the
first and third digits must be at least 2.

Step 2: Write your number backward.

Step 3: Subtract the smaller number
from the larger one. '

Step 4: Write the answer to Step 3
backward.

Step 5: Add the answers to Steps 3
and 4. _

4. FINDING FIBONACCL'S PATTERN

| eonardo Fibonacci lived in Italy during
the Middle Ages. He was the greatest
mathematician of his day. His fame
rests on a series of numbers he found
called the Fibonacci Sequence. Here's
how it starts. Can you figure out the
next five numbers?

11,2, 3,5, 8,13, 21, 54,

_.__.!_,__.-S___.__-’ s '

Key Avea Vable: on s

Copyright © Scholastic Inc.
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Problems and More

.H:aemfn'asn'.'niﬂﬂ

7. AROUND WE GO!

Using only the numbers 4 through 12,
fill in the circles so that the numbers on
each siraight fine add up 10 21,

5. PIGS IN A PEN

Put each of these pigs in its own pen
by drawing only three straight lines.

i

a‘kunmlh.,.llmlnflwlmu‘ms‘u:!u’.llﬂﬁl.t!'zli’itlﬁi:I\l:‘.ndlfmui:

gl i

2. A WHALE OF A PROBLEM

The blue whale is the largest animal on
carth. It weighs 297,000 pounds.
Compared to the blue whale, an ele-
phant is puny! It weighs only 16,500
pounds! What if you wanted to balance
this scale. How many elephants would
you have to put in the empty pan?

6. ANCHORS A-WEIGH!

Three animals want {0 cross a lake in &
boat. There’s an ape that weighs 800
pounds, a bear that weighs 500
pounds, and a fion that weighs 300
pounds.Their boat can hold only 800
pounds. They can't swim across the
lake, walk around it, Of hang off the
edge of the boat.

How can they use the boat to get
across the lake? Can you tell who is In
the boat for each trip? (Hint: The ani-
mals make five crossings.)

Copyright @ Scholastic Inc.
Copyright © Scholastic Inc.

i
B
§
i
i
i
i
|
i
i
i
i
i
i
i
i
!
!
|
!
i
i
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i
i
i
i
i
i
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i
i
i
|
1
|
I
i
1
|

Answers on page 64.
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Problems and More

Put on your thinking cap to solve these problems.

1. ODDS "N’ EVENS

Compilete this puzzie using each of
these numbers only once: 2, 4, 5, 7, 8,
i1, 13, 14, 16.

Put the even numbers in the squares
and the odd numbers in the circles.

Each row of three numbers must add

up to 26.

2. A HIDDEN NUMBER
Try to guess this number:
The number has three digits.
it is a multipie of 9.
lts tens digit is a factor of 16,
but not a factor of 4.

Two of the number’s factors
are 5 and 2.

_O

O_

What's the number?

3. SNAIL TRAIL

There'’s a snail at the bottom of a 10-
foot well. Every day the snail climbs up
3 feet. But at night the snall falls back 2
feet. How long does it take the snail to
get to the top of the well?

i
!
t
B
i
i
i
i
1
£
B
i
i
§
i
i
i
-
i
i
i
i
i
i
i
i
i
I
i
i
i
1
i
i
1
I
|
I

(Hint: Try drawing a picture.)

4. SQUARE DEAL

To complete this square, use the num-
bers 1 through 9 only once 1o fill each
of the spaces.

Each row, column, and diagonal will
add up to a different sum. Some of the
boxes are done for you. .

1 3
8 4
7
16

5. TRIANGLE TRICK

Can you add one
more triangie to
make five triangles
in this picture?

6. PAINT PUZZLE!

Imagine that you could paint the cube
below and then take it apart. How many
of the cubes would not have any paint
on them at alt?

0(-—'(’P)fr'ight © Schelastic Inc.
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" some other favorites. Ih this puzzle,

“of each finger-ickin’-good food they

Four friends went to the 1996
Summer Olympics in Atlanta,
Georgia. They could not get enough
of that southern hospitality. In
addition to collard greens, they had

you will calculate how many servings

had.

Facts:
1. Elly’s servings of grits plus her servings of fried okra are equal to the number of

servings of boiled peanuts she ate.

2. Coley ate an equal number of servings of each food.

3. If you multiply Madeline’s servings of grits by Jerry’s boiled peanuts, you will
know how many servings of okra Madeline ate.

4. Each person ate an equal number of total servings.

5. Jerry’s servings of grits are equal to Madeline’s servings of grits times the

number of okra servings eaten by Elly.
6. Coley ate seven more servings of grits than Madeline who did not eat any

peanuts.
Boiled Fried Grite Totale
Peanute Okra
Madeline
Elly

Jerry 0

Coley

Totale 120

® Instructional Falr » TS Danison ‘ ' 48 IF273¢ Logic Fun




